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void update(int &id,int 1,int r,int pos,int k

lid) id=++tot; /0O 000
-l_==
/0000000000000 00O1

’

int mid = (l+r)>>1;
pos<=mid) update(triid|.lc,1,mid,pos,k);
update(tr{id!.rc,mid+1, r,pos,k);
push up(id);
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int merge(int p,int q,int 1,int r

'p q; 'q p;
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I=SiE
// merge leaf 0O

p;
int mid = (l+r)>>1;
tripl.lc = merge(tr|p!.lc,trlql.lc,1,mid);
tripl.rc = merge(trip!/.rc,triq!.rc,mid+1,r);
push up(p);
P’
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#include<bits/stdc++.h>

#define p_ pair<int,int>

#define mp_ make pair

#define 11 long long

#define pb push back

#define fi first

#define se second

#define rep(i,a,b) for(int i=a;i<=b;i++)

#define showl(a) cout<<#a<<" = "<<a<<endl

#define show2(a,b) cout<<#a<<" = "<<a<<"; "<<#b<<" = "<<b<<endl

using namespace std;

const 1l INF = 1LL<<60;

const int inf = 1<<30;

const int maxn = 1le5+5;

inline void fastio ios::sync with stdio(false);cin.tie(0);cout.tie(0);
int

n,m,falmaxn] [35],dep/maxn],lgimaxn],X/maxn|,Y maxn|,Z maxn|,mxz,ans|/maxn],c
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nt,rtlmaxn],idz[maxn];
vector<int> glmaxn/;
struct node

int lc,rc,mx,id;
trlmaxn* ;
inline void dfs(int u,int f

deplul=dep/fl+1,falu =Tf;

rep(i,1,lg/deplu falullil=falfalul i- i-11;
int v:glu vi=f
dfs(v,u);

inline int lcalint x,int y

dep/x!<deply])swap(x,y);
dep/x!>deplyl) x=falx![lgl/dep|[x]|-deply!|-1];
==y X;
int i=lg[dep[x]-1];1i>=0;1i--
falx![i/!=falyl|li]l)x=falx]|[i],y=Ffalyl[i];

falx ;
inline void push up(int id
int lc=tr[id].lc,rc=tr(id].rc;
trilc].mx>=tr[rc].mx) tr[id].mx=tr[lc].mx,tr{id].id=tr[1lc
triid].mx=tr[rc].mx,tr[id].id=tr[rc].id;
void update(int &id,int 1,int r,int pos,int v
lid) id=++cnt;
l==r
triid].mx+=v;tr[id].id=1; ;
int mid = (l+r)>>1;
pos<=mid) update(tr[id!.lc,1,mid,pos,Vv);
update(tr(id|.rc,mid+1,r,pos,v);

push up(id);

int mergE(int p,int q,int 1,int r

'p q; 'q p;
1::
tripl.mx+=tr{ql.mx; p;
int mid = (l+r)>>1;

tripl.lc = mergE(trip!.lc,triq!.lc,1,mid);
tripl.rc = mergE(tr[pl.rc,triql.rc,mid+1,r);
push up(p);

.id;
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void dfs2(int u,int f

int v:glu vi=f
dfs2(v,u);
rtiul] = mergE(rtiul,rtiv],1,mxz);
trirtful].mx) ans|u] = trirtiul].id;
int main
fastio();
cin>>n>>m;
rep(i,1,n) lglil=lgli-1]+(1<<lgli-1]==1i);
rep(i,1,n- int u,v;cin>>u>>v;glul.pb(v);glv].pb(u);
dfs(1,0);
rep(i,1,m
cin>>X[i]>>Y[1i]>>Z[1i];
idz[i] = Z[i];

sort(idz+1,idz+m+1);

mxz = unique(idz+1,idz+m+1)-idz-1;

rep(i,1,m
int z = lower bound(idz+1,idz+mxz+1,Z[i])-idz;
update(rt(X[i]],1,mxz,z,1);
update(rt(Y[i]],1,mxz,z,1);
int Lca = lca(X[i],Y[1i]);
update(rtiLcal,l,mxz,z,-1);
update(rt|falLca ,L,mxz,z,-1);

dfs2(1,0);
rep(i,1l,n) cout<<idz/ans|[i] | <<endl;
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